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�D>7D4<<4 E>EF46?5=4 =4 >E=>65 $��% %�� ?> =4?D46?5=<N 11.02.01 

«$44<>4??4D4F>EFD>5=<5».  

 

I. �5D5G5=L M?5<5=F>6 E>45D64=<O, 
?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<< 

 

$4745? 1. «-?5>FD>D<7<G5E><5 >E=>6O ?>?G?D>6>4=<>>6OE ?D<5>D>6» 

 

1. -?5>FD>D<7<G5E><5 E6>=EF64 ?>?G?D>6>4=<>>6. �>?G?D>6>4=<>>6O5 
<4F5D<4?O, =4<5>?55 L<D>>> ?D<<5=O5<O5 4?O <77>F>6?5=<O E>6D5<5==OE 
?>?G?D>6>4=<>>6OE ?D<5>D>6. �E=>6O 7>==>= F5>D<< ?>?G?D>6>4=<>>6. 
%>5EF65==O5 < ?D<<5E=O5 ?>?G?D>6>4=<>< (n- < p-F<?>6). �E=>6=O5 < 
=5>E=>6=O5 =>E<F5?< 74DO44, ?D<<5E=4O ?D>6>4<<>EFL, >>=F5=FD4F<O 
=>E<F5?5= 74DO44. �D5=D>6O= (F>> ?D>6>4<<>EF<) < 4<DDG7<>==O= F>>< 6 
?>?G?D>6>4=<>5. '45?L=4O M?5>FD<G5E>4O ?D>6>4<<>EFL. �?<O=<5 F5<?5D4FGDO 
< >E65M5==>EF< =4 M?5>FD>?D>6>4=>EFL. 
2. $<7<G5E><5 O6?5=<O, ?D><EE>4OM<5 6 >5?4EF< >>=F4>F4 «<5F4??-

?>?G?D>6>4=<>». $47=>6<4=>EF< >>=F4>F>6 «<5F4??-?>?G?D>6>4=<>». �4DL5D 
,>FF><. �4DL5D ,>FF>< ?D< ?DO<>< < >5D4F=>< M?5>FD<G5E>>< E<5M5=<<, 
6>?LF4<?5D=4O E4D4>F5D<EF<>4 >>=F4>F4 «<5F4??-?>?G?D>6>4=<>». 
3. -?5>FD>==>-4OD>G=O= ?5D5E>4 (p-n-?5D5E>4) < 57> E6>=EF64. �><>- < 
75F5D>?5D5E>4O. $<7<G5E><5 ?D>F5EEO, ?D<6>4OM<5 p-n-?5D5E>4 6 D46=>65E=>5 
E>EF>O=<5 (4<DDG7<>==O5 < 4D5=D>6O5 F>><). $46=>65E=>5 E>EF>O=<5 p-n-

?5D5E>44.  �?<O=<5 6=5L=<E D4>F>D>6 =4 D46=>65E=>5 E>EF>O=<5 p-n-?5D5E>44. 
$45>F4 p-n-?5D5E>44 ?D< 6>745=EF6<< =4 =57> 6=5L=57> ?>EF>O==>7> < 
?5D5<5==>7> =4?DO65=<=. /6?5=<O <=65>F<< < M>EFD4>F<< =5>E=>6=OE 
=>E<F5?5= 74DO44. %6>=EF6> ?D5>5?444NM5= >4=>EF>D>==5= ?D>6>4<<>EF< < 
57> ?D4>F<G5E>>5 ?D<<5=5=<5. �>?LF-4<?5D=4O E4D4>F5D<EF<>4 (��%) 
M?5>FD>==>-4OD>G=>7> ?5D5E>44, ?D>5>= p-n-?5D5E>44, 4DG7<5 E6>=EF64 p-n-

?5D5E>44 < <E <E?>?L7>64=<5 ?D< E>744=<< D47?<G=OE ?>?G?D>6>4=<>>6OE 
?D<5>D>6.  
 

$4745? 2. «�>?G?D>6>4=<>>6O5 ?D<5>DO»  
 

1. �>?G?D>6>4=<>>6O5 4<>4O. �?D545?5=<5 ?>?G?D>6>4=<>>6>7> 4<>44. 
�?4EE<D<>4F<O ?>?G?D>6>4=<>>6OE 4<>4>6 (���) ?> D47?<G=O< ?D<7=4>4<. 
�>=EFDG>F<O < F5E=>?>7<O <77>F>6?5=<O ��� D47?<G=OE F<?>6, 6O?GE>45<OE 
E>6D5<5==>= ?D><OL?5==>EFLN. �O?DO<<F5?L=O5 4<>4O, 4<>4O E?5F<4?L=>7> 
=47=4G5=<O, 4<>4O E >FD<F4F5?L=O< 4<DD5D5=F<4?L=O< E>?D>F<6?5=<5<: 
GEFD>=EF6>, ?D<=F<? D45>FO, E4D4>F5D<EF<><, ?4D4<5FDO, GE?>6=>-7D4D<G5E>>5 
>5>7=4G5=<5 ('��), <4D><D>6>4, ?D<<5=5=<5. �?D545?5=<5 E4D4>F5D<EF<> < 
?4D4<5FD>6 ?>?G?D>6>4=<>>6OE 4<>4>6 E <E?>?L7>64=<5< E?D46>G=>= 
?<F5D4FGDO. 

https://cchgeu.ru/education/programms/27-03-04-uts-uits-3/
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2. �<?>?OD=O5 FD4=7<EF>DO. �?D545?5=<5 < >?4EE<D<>4F<O 5<?>?OD=OE 
FD4=7<EF>D>6 (�&), F<?O, EFDG>FGD4, '�� p-n-p < n-p-n-FD4=7<EF>D4, 
<4D><D>6>4, D56<<O D45>FO, EE5<O 6>?NG5=<O. �<4O �&, 6O?GE>45<OE 
E>6D5<5==>= ?D><OL?5==>EFLN, >>=EFDG>F<O, F5E=>?>7<O <77>F>6?5=<O. 
�D<=F<?O 45=EF6<O �&; F>>< 6> 6=5L=<E F5?OE. �E=>6=O5 EE5<O 6>?NG5=<O 
�&. %F4F<G5E><5 6E>4=O5 < 6OE>4=O5 E4D4>F5D<EF<>< �&. ->6<64?5=F=O5 EE5<O 
�&. �4?>E<7=4?L=O5 ?4D4<5FDO 5<?>?OD=OE FD4=7<EF>D>6. �<?G?LE=O5 < 
G4EF>F=O5 E6>=EF64 �&, G4EF>F=O5 < <<?G?LE=O5 ?4D4<5FDO. 
3. �>?56O5 FD4=7<EF>DO. �?D545?5=<5 < >?4EE<D<>4F<O ?>?56OE FD4=7<EF>D>6 
(�&). �>=EFDG>F<O D47?<G=OE F<?>6 �&. �& E G?D46?ONM<< p-n-?5D5E>4><: 
GEFD>=EF6>, ?D<=F<? D45>FO, '��, <4D><D>6>4, EE5<O 6>?NG5=<O, EF4F<G5E><5 
E4D4>F5D<EF<><, ?4D4<5FDO. �>?56O5 FD4=7<EF>DO E <7>?<D>64==O< 74F6>D><. 
&<?O, EFDG>FGD4, '��, <4D><D>6>4. $45>F4 ��� (���) FD4=7<EF>D4 6 D56<<4E 
>554=5=<O < >5>74M5=<O. %F4F<G5E><5 E4D4>F5D<EF<><, ?4D4<5FDO. 
%D46=<F5?L=4O >F5=>4 �& < �& ?> ?4D4<5FD4<. 
4. &<D<EF>DO. �?D545?5=<5, >?4EE<D<>4F<O F<D<EF>D>6 ?> GEFD>=EF6G < 
?D<=F<?G D45>FO. �>=EFDG>F<O F<D<EF>D>6 D47?<G=OE F<?>6. 'EFD>=EF6>, 
?D<=F<? D45>FO, E4D4>F5D<EF<>4, ?4D4<5FDO, '��, <4D><D>6>4, >5?4EFL 
?D<<5=5=<O =5G?D46?O5<OE F<D<EF>D>6 (4<=<EF>D>6). 'EFD>=EF6>, ?D<=F<? 
D45>FO, E4D4>F5D<EF<><, ?4D4<5FDO, '��, <4D><D>6>4, G?D46?O5<OE 
F<D<EF>D>6 (FD<=<EF>D>6) < E<<<5FD<G=OE F<D<EF>D>6. �5?4EFL ?D<<5=5=<O. 
 

$4745? 3. «$>F>M?5>FD>==O5 ?D<5>DO»  
 

�?D545?5=<5, >?4EE<D<>4F<O D>F>M?5>FD>==OE ?D<5>D>6. �E =47=4G5=<5 < 
>>=EFDG>F<O. 'EFD>=EF6> < ?D<=F<? D45>FO D>F>D57<EF>D4, D>F>4<>44, 
D>F>FD4=7<EF>D4, D>F>F<D<EF>D4, '��, <4D><D>6><. %4D4>F5D<EF<><, 
E?5F<4?L=O5 ?4D4<5FDO. �5?4EFL ?D<<5=5=<O. 'EFD>=EF6> < >>=EFDG>F<O 
>?F>?4DO < >?FD>=4. '��, <4D><D>6>4. �E=>6=O5 ?4D4<5FDO, =47=4G5=<5 
>?FD>=>6. %E5<O 6>?NG5=<O. 

 

$4745? 4. «$G=>F<>=4?L=4O M?5>FD>=<>4» 

 

�E=>6=O5 =4?D46?5=<O D476<F<O DG=>F<>=4?L=>= M?5>FD>=<><. $<7<G5E><5 
O6?5=<O < MDD5>FO, <E?>?L7G5<O5 6 >?F>M?5>FD>=<>5. $<7<G5E><5 O6?5=<O < 
MDD5>FO, <E?>?L7G5<O5 6 4>GEF>M?5>FD>=<>5. $<7<G5E><5 O6?5=<O < MDD5>FO, 
<E?>?L7G5<O5 6 <47=<F>M?5>FD>=<>5. �>GEF>M?5>FD>==O5, 
<47=<F>M?5>FD>==O5, >?F>M?5>FD>==O5 GEFD>=EF64. 
 

  

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�>EFG?4NM<= 4>?65=: 
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7=4FL: 
2 EGM=>EFL D<7<G5E><E ?D>F5EE>6, ?D>F5>4NM<E 6 M?5>FD>==OE ?D<5>D4E < 
GEFD>=EF64E; ?D<=F<?O <E?>?L7>64=<O >><?>=5=F>6 M?5>FD>==>= F5E=<>< 6 
M?5>FD>==OE EE5<4E < ?D<5>D4E. 
 

G<5FL: 
2 4=4?<7<D>64FL >E=>6=O5 ?4D4<5FDO M?5>FD>==OE EE5< < ?> =<< >?D545?OFL 
D45>F>E?>E>5=>EFL GEFD>=EF6 M?5>FD>==>= F5E=<><; ?D><76>4<FL ?>45>D 
M?5<5=F>6 M?5>FD>==>= 4??4D4FGDO ?> 7444==O< ?4D4<5FD4<; ?> 7444==O< 
?4D4<5FD4< D4EEG<FO64FL < <7<5DOFL ?4D4<5FDO F<?>6OE M?5>FD>==OE 
GEFD>=EF6. 

 

 

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

 

�EFG?<F5?L=>5 <E?OF4=<5 ?D>E>4<F 6 6<45 F5EF<D>64=<O. $57G?LF4FO 
>F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 14 7444=<=. �>?D>EO 45?OFEO ?> >4F57>D<O< 
E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=), 3 

6>?D>E4 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=) < 1 7444G4 >4F57>D<< 
% (D4EG5F=4O 7444G4 3 >F5=<645FEO 6 20 54??>6). %G<<4D=4O >F5=>4 =5 
?D56OL45F 100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 60 <<=GF. 
 

 

IV. �D<<5DO F5EF>6OE 7444=<= 

 

�444=<O >4F57>D<< � 

 

1. �D< 4>546?5=<< >4>>= ?D<<5E< ?>?G?D>6>4=<> ?D<>5D5F45F 
M?5>FD>==GN ?D>6>4<<>EFL? 

4) �>F5?F>D=>=. 
5) �>=>D=>=. 
6) -?5>FD>==>=. 
7) �=65>F>D=>=. 
4) �OD>G=>=. 
 

2. �>?G?D>6>4=<> MF> <4F5D<4?, 6 >>F>D>< & 

4) �4?5=F=4O 7>=4 < 7>=4 ?D>6>4<<>EF< D4745?5=O 74?D5MU==>= 7>=>=. 
5) �>546?5=<5 ?D<<5E< ?D<6>4<F > 7=4G<F5?L=><G <7<5=5=<N 

M?5>FD>?D>6>4=>EF<. 

6) -?5>FD>E>?D>F<6?5=<5 6 464 D474 5>?LL5, G5< G <5F4??>6. 
7) -?5>FD<G5E><= F>> ?D>F5>45F F>?L>> 6 >4=>< =4?D46?5=<<. 
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4) �4?5=F=4O 7>=4 < 7>=4 ?D>6>4<<>EF< >5N545=5=O 6 >4=G, G4EF<G=>-

74?>?=5==GN 7>=G. 
 

3. �5D5E>4 M?5>FD>=4 <7 7>=O ?D>6>4<<>EF< 6 64?5=F=GN 7>=G =4 <5EF> 
4OD>< =47O645FEO &. 

4) �5=5D4F<5=. 
5) $5?4>E4F<5=. 
6) $5>><5<=4F<5=. 

7) &D4=ED>D<4F<5=. 
 

�444=<O >4F57>D<< � 

 

1. �4>>= 7D4D<> <7<5=5=<O F>>4 >F 6D5<5=< 6 65F6< <<55F 4<>4 E 
<454?L=>= 6>?LF4<?5D=>= E4D4>F5D<EF<>>=? 

 

4) 5) 

 
 

6) 7) 

  

 

2. �4><5 <7 6OE>47O64=<= > ���-FD4=7<EF>D5 E <=4GF<D>64==O< >4=4?><, 
EE5<4 >>F>D>7> ?>>474=4 =4 D<EG=>5, ?D46<?L=O5? 
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4) �D< U�� = 0 >4=4? <564G � < % >FEGFEF6G5F < IC = 0. 

5) �D< U�� < 0 ?D><7>=45F <=65DE<O F<?4 ?D>6>4<<>EF< <564G � < %, 
>5D47G5FEO F>=><= >4=4? p-F<?4 < FD4=7<EF>D =4G=5F ?D>6>4<FL F>>, 5E?<  ��    �� ?>D    

6) ���-FD4=7<EF>D E <=4GF<D>64==O< >4=4?>< <>65F D45>F4FL F>?L>> 6 
D56<<5 >554=5=<O. 

7) ���-FD4=7<EF>D E <=4GF<D>64==O< >4=4?>< <>65F D45>F4FL F>?L>> 6 
D56<<5 >5>74M5=<O.   

 

�444=<O >4F57>D<< % 

 

1. �5D4F=O= F>> ?>?G?D>6>4=<>>6>7> 4<>44 I0 = 1 <>� ?D< F5<?5D4FGD5 T 

= 300 �. �?D545?<FL E>?D>F<6?5=<5 4<>44 ?>EF>O==><G F>>G R0 ?D< ?DO<>< 
=4?DO65=<< U = 150 <�. 

4) 10 �<. 
5) 3 �<. 
6) 124 �<. 
7) 460 �<. 
 

$5L5=<5 

 

�?D545?<< F>> 4<>44 I ?> D>D<G?5               , 
745 q = 1,6;10219

 �? 2 74DO4 M?5>FD>=4; k = 1,38;10223 �6/� 2 ?>EF>O==4O 
�>?LF<4=4.                                                           �   
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%>?D>F<6?5=<5 4<>44 ?>EF>O==><G F>>G                              �<  
�D46<?L=O= >F65F: 460 �<. 

  

V. $5>><5=4G5<4O ?<F5D4FGD4 

 

1. �4?L?5D<= �.�. -?5>FD>==4O F5E=<>4: 'G55=<> / �.�. �4?L?5D<= 3 �.: 
$�$'� 3 ��$� 3 �, 2015. -303 E. 

2. �4?L?5D<= �.�. -?5>FD>==4O F5E=<>4: 'G55. ?>E>5<5 / �.�. �4?L?5D<=. -
5-5 <74., <E?D. < 4>?. 3 �.: �� $�$'� 3 ��$� 3 �, 2016. -352 E. 

3. �><<>64 �.�. -?5>FD>==4O F5E=<>4: 'G55. ?>E>5<5 / �.�. �><<>64. 3 �.: 
�4DLDGF, 2014. 3 290 E. 

4. �5FD>6 �.%. $44<><4F5D<4?O, D44<>>><?>=5=FO < M?5>FD>=<>4: 'G55. 
?>E>5<5 / �.%. �5FD>6 3 %�5.: «��&�$», 2003. 3 511 E. 

5. �<?>67>D>6 �.�. -?5>FD>=<>4: 'G55=<> / �.�. �<?>67>D>6, �.�. 
�4=>>6. 3 �.: «�OEL4O L>>?4», 2004. 3 288 E. 

6. �>DL>>6 �.�. -?5>FD>==4O F5E=<>4: 'G55. ?>E>5<5 / �.�. �>DL>>6, �.�. 
�>DL>>6. 3 �.: Academia, 2012. 3 320 E. 
 


